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POWIERZCHNIE[m2] ODLEGLOSC

PIKIETAZ NASYP
NADMIAR(*) BILANS

WYKOP
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7!50 0’28 0,82
0,00
3,94
25,50 0,41 0,31
3,94
16,66
68,00 0,16 1,04
20,60
32,91
111,50 0,18 0,81
53,51
47,92
205,00 0,22 0,61
101,43
99,90
371,00 0,11 0,92
201,32
22,89
502,00 0,65 0,19
224,21
=13;95
603,00 0,31 0,50
210,26
41,73
742,00 0,24 0,65
251,99
5,50
755,00 0,24 0,67
257,50
 RAzZEM

Nadmiar WYKOP 257,50m3

[m]

18,00

42,50

43,50

93,50

166,00

131,00

101,00

139,00
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OBJETOSCI[m3]
NASYP WYKOP
6,27 10,21
12,21 28,88
7,51 40,42
18,63 66,55
27,39 127,29
50,16 73,05
48,76 34,81
38,30 80,03
3,09 8,59
212,31 469,81

(*) - warto$ci ujemne NASYP, dodatnie WYKOP
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ZUZYCIE
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